
Recall ; To find GLOBAL mins and Maxs on ainterval[ 9,10 ]
,

check C I ) critical pts
Cin endpoints

.
± ! Find the GLOBAL min and Max of

fix )= 1/3-3×2 on [ - '
,

3 ]

aye . critpts ? fix )= 3×2 . Gx =
3×(11-2)=0

⇒ ×=0 and X=2 GLOBAL MAX = 0

glyptic
and occurs at x=o and x⇒

GLOBAL MIN = - 4
0 and occurs at x= -1 and x=2

2 23-3.22=8 - 12=-4

3 33-3.32=33-33--0



Applications : 4.4 Profit , Revenue
, cost C Th )

4,7 Logistic Function ( Done )
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E± : s ( t ) = 9.8 tea
" +

( a= 9.8
,

6=0.24 )

what is the maximum concentration and when

does it occur ?

and
'

. tnax = ¥ = Eye 4.1666 . . .

sctmax ) = s (Fay )= Foe = Sifted 15.0217 ...

or (a 4.12
,

2 15.02 )



E± ! SCH = lot East ( a = 10
,

10=0.5 )

Is SHI increasing or decreasing when +  
= I ?

ay
!

methodtsttkaetotc - lot + ⇒ =1oEo5tC± - 0.5T )
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( 2it÷e) since 1<2 which

Method •
is the GLOBAL MAX owl

|# SHI is IACREASIXGt¥t=¥=÷5=
2 > I

at t=I



profit.co#dRe : ( 4. 4)

Suppose we want to make 9 items
W

Pcq ) = RG ) • Clq )

W
W Yoy+=n fixed cost

revenue d) cost percent
profit 9

maxing :
0=P' G) = Rllqtclcq ) =o

s.pt#whenRlq)=C@
9 W W

marginal profit marginal
marginal

revenue
Cost


